Figure 11.9

from defect in
SampleData.AllDefects

Defect: { ID=1, AssignedTo=Darren ...}
Defect: { ID=2, AssignedTo=null ...}
Defect: { ID=3, AssignedTo=Tara ...}
Defect: { ID=4, AssignedTo=Darren ...}
Defect: { ID=5, AssignedTo=Tim ...}
Defect: { ID=6, AssignedTo=Darren ...}

Y

where defect.AssignedTo != null

Defect: { ID=1, AssignedTo=Darren ...}
Defect: { ID=3, AssignedTo=Tara ...}
Defect: { ID=4, AssignedTo=Darren ...}
Defect: { ID=5, AssignedTo=Tim ...}
Defect: { ID=6, AssignedTo=Darren ...}

Y

group defect by defect.AssignedTo

Defect: { ID=1, AssignedTo=Darren ...}
Defect: { ID=4, AssignedTo=Darren ...}
Defect: { ID=6, AssignedTo=Darren ...}

Key=Darren

\4

Defect: { ID=3, AssignedTo=Tara ...}

Key=Tara Defect: { ID=13, AssignedTo=Tara ...}

\ 4

Defect: {
Defect: {

D=5, AssignedTo=Tim ...}

Key=Tim D;8, AssignedTo=Tim ...}

\4

\/
(Result of query)



